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AE | IEfz K4 ouT | IN |[#Bx|H D| NET =
O 1 b E =i 36 40 76 15.2 | 60.8
O 2 FHEE FEah 51 50 101 | 376 | 634
O 3 S BE 35 38 73 72 | 658 BGE
O 4 Rk #&a 38 42 80 | 129 | 67.1
O 5 5E fi= 37 44 81 13.9 | 67.1
6 INEF R 42 50 92 | 244 | 676
7 2K B2 41 47 88 | 19.8 | 68.2
8 AL S 35 43 78 96 | 68.4
9 Xidi —4% 40 42 82 | 127 | 69.3
10 HLE EF 36 44 80 | 104 | 69.6
11 HHE & 39 41 80 | 10.3 | 69.7
12 X8 XX 43 44 87 | 16.9 | 70.1
13 HE BfE 41 48 89 | 189 | 70.1
14 [RH RBH 38 45 83 | 129 | 70.1
15 R IEX 38 42 80 98 | 702
16 SH WL 38 41 79 78 | 71.2
17 TR A S 47 55 102 | 30.7 | 713
18 BEH = 38 50 88 | 164 [ 716
19 T I 43 44 87 148 | 72.2
20 g £ 41 43 84 118 | 72.2
21 ® R 45 56 101 | 278 | 73.2
22 Bk =& 40 45 85 | 11.7 | 733
23 XH Z2# 53 55 108 | 342 | 738
24 BHR Jtf# 48 48 96 | 205 | 755
25 N T 43 47 90 | 144 | 756
26 EX E1T 46 47 93 | 173 | 75.7
27 X% FE 44 48 92 15.2 | 76.8
28 ES IFH 43 51 94 | 169 | 771
29 =i 5 42 52 94 | 163 | 77.7
30 I_RA =& 52 44 96 | 181 [ 77.9
31 =5 B 42 48 90 12 78
32 | PIER FHEX | 49 53 102 | 236 | 784
33 ¥ HiER 50 52 102 | 233 | 787
34 fah EH 48 50 98 | 18.1 | 79.9
35 R ®B= 42 56 08 17.7 | 80.3
BB | 36 jna #w&E 45 49 94 | 111 | 82.9
37 hE BUA 60 62 122 | 356 | 86.4




